SNHWNVTZAKZE2016
CEEZFIR)

1) BASREFR

“BNBEFFLE : FHIB:50 FTITHEZEZRBITTIEEL,
(W ! TZRADARUMIFRIOBMNSEHRELET)

2) BmBRAE
HAEE 1Y YTF (65 —LKR) /—TRNAUT—UAR,
EHE. LTI ELET DD EDOHIFRENFERNET,
-HANOBRB L. Y—ER4AKRELET,
CHEDETEET. A—F—ATTL—ICkUBRL. BEIXLEE A,
VY=L avIiE TWER AL
3) FIEDBETLEMBIIRELEE A,
4) BEBADOFERIOVTIE RARERITOETA. TNULDEEFEVERA,
5) EITEDEAICKY . BEAZZEETHENHYET,

2 F
1 2 SF F SF 2 1
ME-NkE
JILEJIE TEBEETS 60 B - BB win-win wonders
BYE BYE
LaEaRE Aandy tennis,/ITC KOBE, I&F 64 60 KEHE) KEH(ZE) skylsea
A - Rt A/h—Fyatnak—y | 61 62 ANUE - AU NIT=A2FT
Fm-ARm 2o d 60 60 AR - gARWD)  <HAPa
KRB -t b TR 61 60 ATF-AT CARLO
BYE 62 65 BYE
EAARGL) SRS <HAPa RO -HO 7V—




T - AR S-SHOT T - A 7Y —
BYE BYE
Jrfi] - 4 ] 7V— wd 64 [t A - i A% OKAMOTO
AR - P RECE) AR W. K- [ S ST R
- All Free 62 63 BYE
BYE VepR() - Vefk(BR) K
BYE 64 61 BYE
Rk Rk TR/ by 7 T A~ R AHGH) - KEFH () skylsea
;b F
SF SF 1
8 - A1
A A LA AP A G Al LASCH AP A
BYE W.0 - Hi1 77—
BYE 62 61 BYE
NSRE L LA2010 RE-RE EANTH A

10

11

12

13

14

15

16



1

2 3 4 SF F SF 4 3 2

2)LL—> 88

1

1 BIE- e RTT - FRHE T 1 H RHENA—X
62
2 BYE BYE
3 BYE [ | BYE
62
4 et AN AT 64 B 5% JV—hiavh 8
5 Ll Fuil 7Y— 64 64 KA -1HH TNP
6 [y A JV—hiavh 8 60 65 LG - g 71—
7 BYE 65 " LT - e = ETC
8 Adf-Aif LA2010 BYE
9 MH- i 5 TC 60 L Lk - i F— Ll
62
10 BYE WOl EAR-HEH AGTC
[ARPNEIPNE MKY 65 61 TH-AR by 7T )
12 g Al F— Ll 62 65 4% -2l RTT
13 ZRY - FTiT LET2 65 62 e de)1 RNHEN— X
14 B8 - B LAStH AT A 60 WO[ o iy 7Y—
15 By 1AJ2 kg 62 [64] AN AT E FV—hiavh 8
16 Y H - Y SRAANAR 62 BYE
17 A-H5 North Reds 61 65 G- ik DS
18 AT I F 7 | 63 6] il #1L F— L
19 A5 - i 25 JLb—hvavh 8 63 61 A PRA Font
20 AEH-EH HIFTC 62 BYE
orf |
21 BYE 65 BYE
22 BYE ] WA <HAPa
23 REJE-f4 Eido. ra. do

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45



2)LL—2120

1

2 SFF SF 2

1

f&iE-
AR - A <HAPa 62 CUIRPN] LA 2010 9
BYE 64 - {H LA B A A 10
fE A A H 7V — 65 60 o - AR R 11
e R H<< 64 60 TR (Ll P FRTC 12
/NEENEE 7IAT ATAL 62 62 FRAS  RAS F— L 13
Hiai AR T =257 62 62 P - 1 LA 2010 14
EEi=Es V% S Y.V ARV 63 62 I NBp A% 15
B I - [t B LA 2010 60 61 R - R L T=ATT 16




